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1- Shade the circle of the symbol that ' 1T G o1 O30 5 o AT SIS -

represents the right answer fully. | Mdla Aovomalt Al ¥ (Lo
The finnacial monetary policies are . s
coordinated through ........... | A lel Olwbpudt GuwdS @y
.......... I (e At
@ The Customs Union | S e a3 @
(b  The Common Market. | IS L Gaud! ()
(©)  The economic integration | - gabaddizlesyl ®
@ The economic unity | Aalaid W Gus ol @
2- How do you explain ...? - §uee puundi @2 - Y

Answer either (A) or (B) . 1dazd (@) 9f (1) e i
A- The boundaries were drawn to separate | (0 Jaall ddaddi 3 giod| Ceauwy -
between the European countries instead | -ps>1 (e ¥ A gyo¥1 Jgalt

of the wide areas (Tekhoum) i‘;,:m:. XY R VIR ([ Wiv:ivi {0
B- Modern technology is a double aged | - Apauladt 2 gdonlt
weapon for the political boundaries.
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3- Prove if this statement is true or false. | 3ykalt s ol Ol gmio le J3a =¥
The European parliament decides b el
the direction and the general political | oLy =2959¥1 Gloal sdt 3dony,
priorities of the Union . | AN Aelalt Awlewdt Olaghgl g
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4- The new world system is not truely a fruit of | 2a.Gst1 8t et lall allalt, - ¢
conformity between nations but was obliged | Loia (J 91 (0 (3La51 3 pads (S0 @
to them by the world's circumstances in the | 30=a!! =2 p-tlall 29,15 4l )
periods after the cold war. ‘ r33kd oy &

. . A% . ‘ - o
Guided by this statement . AATLEME (AN 5 52 2

Answer either (A) or (B) | rdadd (o) 5 (1) o e
A- What are the changes that accompanied the | i Lo il Of yilialt o La -i
appearance of the new world system? | Sdadad et lal) ALEALY Haeld

B- Mention the effects of the new world system |
on both the progressed and the developing
countries.

A et lal) ALY 3 83 -0
I VRV R TPS- WAL PRUTDPS
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5- Shade the circle of the symbol that |l J1AM Ja b1 S 3 500 JUS -0
represent the right answer fully. | < HlelS SLUAT Aomomualf Aals W

KT S Aty ad
| L Ayl AL gl

....... is an example of a federal country.

@  Egypt. | a0 3T)
@ Brazil. Jayl et @
(©  China. , Ouall )
@ France. , Lud 52 @
6- What happens if .... ? ' § oo 13 Sty 1300 -1

The military formation of Warso Union | &Sl gt o LA 0 @

hasn't been canceled. -9ty 9l
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7- What are the results of: ' P P W N (F Yk (RPN

The increasing of conflicts after the |Gt e Olelyall 33005
Second World War between the Eastern | 0225—uasl! (0 46501 dialal!
and Western Camps. _ i pA01g B S
8- What does the concept of following | Adde JiT (S pggael LSH -A
statement refer to? s AGY 3 ylats
The power that achieves the natlt.)nal. | pa9al! (¥ | Gasmd ) 383N,
security of a country and protecting its | 23,150 Aul_a>g At gall
resources as well as its geographical unity. | <A a9
S
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| oo US (s ABMalY Lo -4

The illegal immigration - the economic level. | -$3baiB¥! Gyiual! = due yill 112 3yl

9- What it the relation between:

10- Prove geographically the correctness of | : 4Lt 5lal doe e Lm yh> 13-\
the following statement. Dt A oat| &real
The importance of the Higher Council el S M'““M);
of the Arabic gulf Countries. ' il
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11- What are the results of: 1Al AG yiad ) ELCS Lo -\ Y

The interference of the International | A gttt Jubal) AeSns S5
Law Court in the conflict between -ouigd g Leed Grar g1 501 (2

Libya and Tunisia.

12- How do you explain......? ' S pwai @l -\ Y
The importance of the wide range of the | -Owall GHISutt (3sh Aeal
population of China. '
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13- Prove if this statement is true or false. | :adt5;lalilad giclgogle s =AY

Egypt is a country that overlooks | ole B AT S J 9 (e riae)
the sea from two different marine | Ok o (g 93 s
prespectives.

8
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14- You have a base map of the European IQSJLEJ e lomo Atay p5 Elalel -\ ¢

and African continents. Look at it then | + L x81 9 Ly g yol
write the indication of each letter. P gatl B M Jae ciSH)
(lgte

a- A country which has a semi presidental | —wly, acd altas Oy atgs -

system in Europe. ‘Ligyoly
b- A political problem on the | o) (e Awliw A bo -0
Mediterranean sea. | dawgiel!
¢- The main laltitude line. ' sy oo e 331 -
d- A country that suffered from racial PN (GNP YA P S PY R
discrimination. <A palial
e- A bypass on the north east of Africa. | B Jlais (palle (o> o y—sa -2
<Ly 500
10
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15- Shade the circle of the symbol that | e 11 a3 St 3000 U5 -V o
represents the right answer fully. | elS MLUAT dovonal| Al ¥

One of the capitals that was chosen | el Cxis! o poolsall b
based on the national sovereignty is.... + AR Lul oLl

@ Ankra. ; 8 31 @
@ Mosco. - . 95w g0 @
(©) Rome. ' Ly
@ Cairo. ' .5 palat) @
16- What happens if ... ? ' § e 13) Sty 13Le -\ Y
The coal contributed with a great | ST Ay il @l
percentage in the international trade. | - Al 9t 5l

17- What does the concept of the following | ade Ju3 i1 pggaalt i8I -V
statement refer to? 1 AGY) 3yl

The boundaries which were drawn Leasus 5 i Al 3 gt S
and specified due to the cultural Ol Ayl "“L""‘f ,GA’
characteristics of the people like the il AL
language and religion. .

11
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18- Shade the circle of the symbol that
represents the right answer fully.

The scientist who puts the geopolitics

Aresto.

Rodolf Kjellen.
Friederich Ratzel.
Ibn Khaldoon.

®O06

19- What is the relation between :

Colonization and the boundaries
problems between countries.

12

TIATH 3,01 O 35001 GBS~ A
| S8 Amomaal! Rl e
' DelS

|0l (e ygld (ST pSlal

z&ﬁ&SbﬁﬁM‘ e -\4
| OMS_iialtyg — Hl—aaiw¥
<J 9! (o A gt
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20- Prove geographically the correctness of E Hlal! Ao e Ll ya J18 -+

this statement. : AL
The boundaries between India and [l (i g ML)
Pakistan were drawn on a religious | ks pulal gle glLS L
basis. |

21- What are the results of : i 1 ohe Al el FALEN Lo - Y

The centeralization of the minority in | &kt -2 2d8Y) ;S a3
a Specified area inside a country. AL S IS dome

13
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22- Shade the circle of the symbol that | e JIA1 Ja 11 Ol 350400 IS - Y Y

represents the right answer fully. lolS MLAAT dovomal| Asla ¥
The wide areas (Tkhoom) is a ....... ........ 3 AU g5 Ll
phonomenon. !
@ legal ' Ao gild @
(b human. ads Q)
@ astronomical. P @
@ geographical. PRIJEPY @

23- Prove the correctness of this statement. | 5;Lal b 5 0l gmo e JFs -YY
r AG Y

The astronomical boundaries are -

confirming with both the longitude and | o> & 320 4,514l 39,

the latitude and are spread in Austarlia |2 &=559 02l 21535 Jskal!

and Europe. : -kl g g gl Aol
l -
24- Compare between: 10 S (i (18 - Y
Answer either (A) or (B) only ' 1dazd (Q) 91 (1) e cen

a- The problem of the minorities in South | L b Gga @93 -0 dale ¥ U -
Africa and the Untied States of America. | .4 ¥ il OLY gl 8 Adsdiy

b- The local and international rivers.  WEA (P W PP

14
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25- Shade the circle of the symbol that |l JIAM a8t Ol 3,01 400 YIS - Yo

represents the right answer fully. | HlelS LSS domoval| Al ¥
A marine country that is divided is....... | 493 31 52nal! Ayt J 901 (5
@  Egypt | S O
@ France. s o @
@ China. ' Oyt | @
@ Japan. ObLd @
26- What happens if .... ? , § a3 Sodony 13k - ¥
The capital is not chosen due to R Aeiolall HLC oy 0t
effective standards. | S pilaelt 59
27- Write what does the concept of the | dde Jua (S pgglalt St - YY
following statement refer to? 4G 3 ylal

AT Cone T A0 A 30

A finnacial establishment that is set up to
.«@3«-\" 'Z\:s..fé.m QL‘AZ.H

organize the international finnacial cases.

15
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28- How do you explain the following..? § oo pwdd @ -YA

Answer either (A) or (B) only | 1dadd (@) 9 (1) e i
A- The country is one of the most important fields | &¥low eai o atgatt i
of studying the political geography. | bt L paont ) Al ys

B- The importance of the marine location of a country. | .4 gut (¢ yonit! 28581 Aredi -

29- What is the relation between: ! 1o Js (e A8 dat) Le - Y4
The political geography and elections . | Aot LA pant)
Specify your answer in points. -Badave dolds 8 CLalea ¥

16
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30- Prove geographically the correctness of | 5;lal Ao e Ll ya J1a Y
this statement. s A G¥

The regional water has an economic Ated| AraddW ol—rall)
importance for the country. -r AR Ao

17
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31- What are the passive consequences of | 4G yial Attt HORI oo Lo ¥
the exsistance of mountains in some | oAy 8 Oladl yol) 399 e
countries? ' §J 9N

18
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32- How do you explain.....? § oo pewdl @ -YY

Answer either (A) or (B) only cdazd () 9 (1) e i

A- The whole world has become one unit | o a3 i g3 g @llal ool |

known as a global village. SO S A AT
B- The integrated gregular) shape of the | B0 5 LT A gl S L5
country affects its power. _ gy
19
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33- Prove if the following statement is true |3)Lat ki 5i ol go e Jrs -¥¥
or false. s A ¥
Washington is chosen to be the e Sl g
headquarter of the United Nations. ~(Buoiall @il | pde §pS

20
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34- Answer (A) or (B) 1(2) 9l (1) e el -YE

(The student is given the right to al) Ay Al g 2e)

answer due to what he/she studied.) ' (003 Lesd
A- From your point of view did the muslim |
scientists have a role in the field of s lelall 5IS Uo FET,Ia0 dgag (-
political geography? Clarify. | L@ At Jlone 5B 593 (eabucal!
LS e § Asau Lgaa

B- From your point of view, do you
consider the country that has more ,
population in the world more powerful |aloadl Ja &3 2285 d g g (4o -0
from the political and military |l ettt (B Lﬂs_w Be3'q
prespectives? Why? | 13 Lat g Lol g b sSuue 598%

21
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35- Shade the circle of the symbol that | JIATY 1 S B Al SIS Yo
represents the right answer fully. | Ml Aouall Al ¥ e

. : SelS
The Council of Co-operation of the

Arab Gulf Countries establishment is | J9lt Oglalt uloma LB (2 (ol

announced in ... | e tAde (B (Al gt
@ Riyadh o2t (D)
@ Abu Dhabi ol g @
(©  Kuwait . st ()
(@ Manama | aeliadt (D)
36- What happens if ... ? | § ... 13 kg 15k ¥

The technological level between the .g-?ﬁ-'m b guad ! imial

blocs' countries has become divergent. | late s SISO J9d

22
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37- Shade the circle of the symbol that | JIAY a3t O3 3 phul ) SIS YV

represents the right answer fully. | Ml Avouall Ayl ¥ e
Okels
The geography of elections began by....... ,

Ol @l as Olas

| . et W le
a- Friederich Ratzel ' A5 ey 0
b- Andrie Sigfred. o0y yd)
c- Radolf Kjellen. ' (S catagy
d- Aresto. .ol

38- What does the concept of the following | ade Ju3 i1 pggaalt S| -¥A
statment refer to ? , ALY 5 ylealt

The levels of organizational divisions | > Shis—iws 4wy,
of the administration and governing in | AT T (U312 31N
the country.

23
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39- What is the relation between the 10 35 O 435at) Lo -Y4
following: - JAT gl B g Al
The language and the country unity.

24
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40- Prove geographically the correctness of | 5 lal Ao e (a0 pa JFa -6

this statement. , s SN
The means of transportation are 290 (e B Jilwg Aald)
one of the most important factors of - puaall J gll Ay st

contemporary countries.

25
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